1.

oS 23 o] 4 ool tisted p1(1) + £71(2) 9
Fg LotH?

1 22 @3 @14 65

X—>Y
0 1
1 2
2 3

f@=1 fM=2=f11)=2 f1(2)=1
L)+ 1) =2+1=3




a\(

(f- N7 = (- H0)

= (D)

f‘l(b) = k2t S5}, flk)y=b
L k=c

o FTHNHD)
E )=t
Lt=d

w ()N b) =4

=f"(c)
3SR, f(r) = c




T flx) =2x -1, g(x) = —x + 5 Hi5t (fog™!)(a) = 1°]
A o A a9 I dukdry?

(fog ™) (a)=1°A
fga) =1 (1) =108
gl a) =11 a=g(1)=4




(flog)t=gtof

s (g7 o £)(3) =g (f(3))
g 1(10) = k 2t 514, g(k) =
o k2—6k+10=10
k=6 (o k=3)

=¢71(10)
10 o]tt.




T f(x) = 2x =4 ol Hist f(x) o] dAFE
Wy = /00 %y = ) o Tk 2y o
Hole?

“Hx) = & o,
== =99

D 6 @ 8 ® 10 @)12 ® 14
€5

y=f(x) o 2eE=

3 (0,-4), (2, 0) 2 A= F Aot

JAH &4y = f(x) O Tz}

AREy =) o AT

A y = x o diste] hHolBz

y=["(x o 2 Z=

= A (-4, 0),(0, 2) B A= FAoltt

Fy = £(x) oty = f_l(x) o] Jejmol wHL2y = f(x) o]
TSI} A y = x o] AT gong Ao x JEES T3}
Al f(x) =xEEH2x-4=x

. x:4

ylk

4,____
= o/z 17
_g)f V=@
/

whab o) FHIE (4, 4) OB

2N FoHe =F Holk L x6x4=12




(fof)(x)=x°lA f=f"
wtetA] f71(5) = £(5) = -2




7. ﬂ@:{ﬂxgn , 8(x) = flx+4) 2 FATdH h(x) = g7 (x)

x%(x > 0)

gt st o, a(0) ] B2 2

h(0) =g '(0) =k
glk) = f(k+4)=0
o k+4=0

o k=-4

- h(0) = -4




